
1MA1 Practice Tests Set 1A: Paper 2H (Regular) mark scheme – Version 1.0

	

	Question
	Working
	Answer
	Mark
	Notes

	1
	
	12, 24, 36, 48, 60, 72, ….

8, 16, 24, 32, 40, 48, 56, 64, 72,…
	25.80
	5
	M1 for listing at least 3 multiples of each of 12 and 8 or 24 in two lists of multiples or from factor trees

M1 (dep) for attempt to find a common multiple of 12 and 8 above 60 (= 72)

M1 (dep M2) for method to find the number of boxes and the number of packs  72 ÷12 (= 6) and 72 ÷ 8 (= 9)

M1 for finding the total cost by multiplying numbers by cost and adding eg  “6” × 2.50 + “9” × 1.20 

A1 for 25.8(0)

	2
	
	62 + 92 = 117

(117  =
	10.8
	3
	M1 for 62 + 92 

M1 for ((36 + 81)  or (117  

A1 for 10.8 – 10.82

	3
	
	x + 4x > 2(x + 48)

      5x > 2x + 96

      3x > 96

        x > 32
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	33
	5
	B1 for x + 48 (or 2x + 96 oe) and 4x

M1 for x + 4x > 2(x + 48) oe

M1 for subtracting 2x from both sides
A1 for 3x > 96 oe   

A1 cao for 33 

OR 
Trial and Improvement

B1 for 1 correct trial of S, N and C

M1 for an improved correct trial of S, N and C 

M1 for a correct trial of 32

M1 for a correct trial of 33

A1 (dep on M2)   for   33 cao 

NB: Accept other letters instead of x
NB: an answer of 32 without working scores 0 marks

	4
	
	4x + 4x + 3x + 4 + 3x + 4 = 14x + 8

5x + 5x + x – 3 + 7x –3    = 18x – 6

18x – 6 = 14x + 8

4x = 14

x = 14/4 = 3.5 oe

Area of trapezium =

Length is 3x + 4 =           3 × 3.5 + 4 =

Width is 4x = 4 × 3.5 = 
	x = 3.5

L = 14.5

W = 14
	6
	M1  4x + 4x + 3x + 4 + 3x + 4  (= 14x + 8)

M1  5x + 5x + x – 3 + 7x – 3  (= 18x – 6)

M1 equating e.g. 18x – 6 = 14x + 8 (4x = 14)

A1  x = 14/4 = 3.5 oe

A1 for 14.5 or “3.5” × 3+4 ft

A1 for 14 or “3.5” × 4 ft



	5
	(a)
	
	0.22,0.78,0.74,0.26
	2
	B1 for 0.78,0.22 correctly placed

B1 for 0.26,0.74 correctly placed

	
	*(b)
	
	No

As 0.454 < 0.5
	4
	M1 for 0.55 × “0.22” or 0.45 × “0.74” oe

M1 for 0.55 × “0.22” + 0.45 × “0.74” oe

A1 for 0.454 oe

C1 (dep on M1) for conclusive statement based on their answer compared to 50%

	6
	
	5, 13, 29, 53, 85, 125
	(85)
	2
	M1 for correct evaluation of at least 3 odd cases or sequence of 5, (8), 13, (20), 29… seen or the expression with n = 9 or 11 or 19 or 21 or … substituted but not evaluated

A1 for 85 or 125 or 365 or 445 or … identified 

	7
	
	Volume of A = 
[image: image4.wmf]7

.

0

140

 
                      = 200

Volume of B = 
[image: image5.wmf]6

.

1

128

 = 80

Mass of C = 140 + 128 

                 = 268

Density of C = 
[image: image6.wmf]280

268


	0.957
	4
	M1 for finding the volume of either liquid A or B or the mass of liquid C

M1 for a complete method to find the volume AND mass of  liquid C

M1 (dep M2) for “total mass” ÷ “ total volume” 

A1 for 0.957 to 0.96

	8
	
	3² × 180


	1620
	2
	M1 for using a scale factor of  3² (= 9)

A1 cao

	9
	
	e.g. 

1 × 7.6 + 3 × 9.4 + 2 × 5.6 + 6 × 1.4 = 55.4 

55.4 ÷ 2 = 27.7 

27.7−7.6 = 20.1 20.1 ÷ 9.4 = 2.138… 

Median = 55 + 2.138…× 2.5 = 60.345… 
	60.3 


	4
	M1 for attempt to find the area of one bar 

M1 for attempt to find total area ÷ 2 (condone one error) 

M1 for correct attempt to locate median in second bar (condone one arithmetic error) 

A1 for 60.3(4...) 

	10
	
	
	(–15, 0)
	4
	M1 method to find gradient of tangent, e.g.   –1 ÷ –
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M1 for method to find equation of tangent with m = “
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M1 for method to find x-axis intercept of tangent

A1 cao




National performance data from Results Plus

	
	Source of questions
	
	
	
	
	Mean score of students achieving grade:

	Qu
	Spec
	Paper
	Session
	Qu
	Topic
	Max score
	Mean

% all
	ALL
	A*
	A
	B
	C
	D
	E

	1
	1MA0
	2H
	1406
	Q14
	HCF and LCM
	3.68
	5
	74
	4.65
	4.27
	3.97
	3.58
	2.77
	1.58

	2
	5MM2
	2F
	1211
	Q26
	Pythagoras in 2D
	1.00
	3
	33
	
	
	
	2.90
	1.88
	0.52

	3
	5AM2
	2H
	1306
	Q14
	Solve inequalities
	2.71
	5
	54
	4.43
	3.48
	2.78
	1.72
	0.79
	0.06

	4
	5AM1
	1H
	1106
	Q14
	Solve linear equations
	3.24
	6
	54
	5.84
	5.19
	3.02
	1.17
	1.00
	1.00

	5
	5AM2
	2H
	1411
	Q15
	Probability tree diagrams
	3.22
	6
	54
	5.78
	5.25
	4.29
	2.36
	1.00
	0.00

	6
	2540
	2H
	811
	Q05
	Number sequences
	0.74
	2
	37
	1.81
	1.56
	1.05
	0.45
	0.12
	0.09

	7
	1MA0
	2H
	1506
	Q16
	Compound measures
	0.86
	4
	22
	2.54
	1.44
	0.82
	0.55
	0.40
	0.28

	8
	1MA0
	2H
	1506
	Q21
	Ratio
	0.21
	2
	11
	0.93
	0.47
	0.21
	0.06
	0.01
	0.00

	9
	5AM1
	1H
	1311
	Q21
	Histograms and grouped data
	0.42
	4
	11
	2.04
	0.67
	0.23
	0.12
	0.00
	0.00

	10
	
	
	
	NEW
	
	
	4
	
	No data available
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